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GEOGRAPHY
(General)

Paper Code : VII - A & B

(New Syllabus)

Full Marks : 50 Time : Two Hours

Paper Code : VII - A

(Marks : 15)

Choose the correct answer.

Each question carries 1 Mark.

1. Mount Girnar is the highest peak of —

(A) Karnataka Plateau

(B) Kathiawar Peninsula

(C) Araballi Hill

(D) Meghalaya Plateau

1. !†îû̃ yîû þ™îÅ“þ £œþ  ~îû ¢öìîÅyF‰þ Ÿ,D  —

(A) „þ Å̃yÝþ„þ ›yœ¦)þ!›

(B) „þy!íëûyçëûyvþü vþzþ™m#þ™

(C) xyîûyîÍÔ# þ™îÅ“þ

(D) ö›‡yœëû þ™y£yvþü

2. The Southernmost point of India is —

(A) Indira Point

(B) Cape Camorin

(C) Rameswaram

(D) Trivandrum

2. ¦þyîû“þîöì¡ìÅîû ”!Çþ’“þ› !î¨%!Ýþ £œ —

(A) £z!¨îûy þ™öìëûrÝþ

(B) „þÄy›!îû̃  xhsþ îû#þ™

(C) îûyöì›Ù»îû›

(D) !eîywy›
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3. ‘Vidarbha’ is the regional name for a part of 

(A) Gujarat

(B) Maharastra

(C) Madhya Pradesh

(D) Andhra Pradesh

3. ò!î”¦Åþó £œ  îûyöì‹Äîû ~„þ!Ýþ x‚öìŸîû xyMþé!œ„þ  ˜y›  —

(A) =‹îûy“þ

(B) ›£yîûyÜTÉ

(C) ›•Ä²Ìöì”Ÿ

(D) xõÉþ²Ìöì”Ÿ

4. Dhauladhar range is located in —

(A) Kashmir

(B) Himachal Pradesh

(C) Uttar Pradesh

(D) Assam

4. •çœy•îû ö×’# xî!ßþi“þ —

(A) „þyÙÂ#îû

(B) !£›y‰þœ ²Ìöì”Ÿ

(C) vþz_îû²Ìöì”Ÿ

(D) xy¢y›

5. The pass connecting the rest of India with Kashmir is —

(A) Nathu La

(B) Banihal

(C) Karakoram

(D) Aghil

5. ö„þy˜ !†!îûþ™í „þyÙÂ#îûöì„þ ¦þyîûöì“þîû x˜Äy˜Ä ‹yëû†yîû ¢yöìí ¢‚ë%_« „þöìîûöìŠéÚ

(A) ˜yí% œy

(B) îy!˜£yœ

(C) „þyîûyöì„þyîûy›

(D) x!‡œ
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6. Which of the following rivers has the highest length —

(A) Narmada

(B) Tapti

(C) Sabarmati

(D) Luni

6. !˜Á¬!œ!…“þ ˜”#=!œîû ›öì•Ä „þyîû ÷”‡ÅÄ ¢îyÅ!•„þ Ú

(A) ˜›Å”y

(B) “þy®#

(C) ¢îîû›“þ#

(D) œ%!˜

7. Which one of the following rivers is not a tributary of Brahmaputra ?

(A) Lohit

(B) Dhansiri

(C) Teesta

(D) Shipra

7. !˜Á¬!œ!…“þ ˜”#=!œîû ›öì•Ä ö„þy˜!Ýþ îÊáþþ™%öìeîû vþzþ™˜”# ˜ëû Ú

(A) öœy!£“þ

(B) •y˜!¢!îû

(C) !“þhßþy

(D) !Ÿ²Ìy

8. The largest coalfield in India is —

(A) Jharia

(B) Raniganj

(C) Bokaro

(D) Talcher

8. ¦þyîû“þîöì¡ìÅîû î,£_› „þëûœy öÇþe £œ —

(A) Gþ!îûëûy

(B) îûy˜#†O

(C) öîy„þyöìîûy

(D) “þyœöì‰þîû
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9. The largest iron-ore reserve is found in —

(A) Odisha

(B) Jharkhand

(C) Karnataka

(D) Chattisgarh

9. ¢îÅy!•„þ öœï£xy„þ!îûöì„þîû ¢Mþéëû ö”…y ëyëû —

(A) ç!vþüŸy

(B) Gþyvþü…uþ

(C) „þ’ÅyÝþ„þ

(D) Šé!_Ÿ†vþü

10. Loktak Lake is located in —

(A) Manipur

(B) Sikkim

(C) Goa

(D) Kerala

10. öœy„þÝþy„þ £É” xî!ßþi“þ  —

(A) ›!’þ™%îû

(B) !¢!„þ›

(C) ö†yëûy

(D) ö„þîûyœy

11. Which state has the largest proportion of their area under forest cover ?

(A) Madhya Pradesh

(B) Arunachal Pradesh

(C) Jammu & Kashmir

(D) Nagaland

11. ö„þy˜ îûyöì‹Äîû öîŸ#îû¦þy† x‚Ÿ xîû’Ä xyFŠéy!”“þ Ú

(A) ›•Ä²Ìöì”Ÿ

(B) xîû&’y‰þœ ²Ìöì”Ÿ

(C) ‹Á¿% ç „þyÙÂ#îû

(D) ˜y†yœÄyuþ
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12. According to 2011 census the rural population of India is  % of total
population —

(A) 86.84%

(B) 66.84%

(C) 69.48%

(D) 68.84%

12. 2011 ¢yöìœîû xy”›Ö›yîû# x %̃ëyëû# ¦þyîû“þîöì¡ìÅîû @ùÌy›#’ ‹˜¢‚…Äy £œ ¢›@ùÌ ‹˜¢‚…Äyîû % —

(A) 86.84%

(B) 66.84%

(C) 69.48%

(D) 68.84%

13. The highest decadal population growth of India is found in —

(A) 1951 - 1961

(B) 1961 - 1971

(C) 1971 - 1981

(D) 1981 - 1991

13. ¢îÅy!•„þ ”Ÿ„þ#ëû ‹˜¢‚…Äy î,!kþ ö”…y ëyëû  —

(A) 1951 éôé 1961

(B) 1961 éôé 1971

(C) 1971 éôé 1981

(D) 1981 éôé 1991

14. In which of the following state the highest numer of Buddhists are found ?

(A) Arunachal Pradesh

(B) Mizoram

(C) Sikkim

(D) Meghalaya

14. !˜Á¬!œ!…“þ îûy‹Ä=!œîû ›öì•Ä ö„þy˜ îûyöì‹Ä öîïkþéôé•›ÅyîœÁº# ›y˜%%¡ì ¢î öíöì„þ öîŸ# î¢îy¢ „þöìîûÚ

(A) xîû&’y‰þœ ²Ìöì”Ÿ

(B) !›öì‹yîûy›

(C) !¢!„þ›

(D) ö›‡yœëû
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15. Mark the incorrect pair Linguistic Composition —

(A) Indo-European Family — Marathi

(B) Dravidian Family — Kurukh

(C) Austric Family — Mishmi

(D) Sino-Tibetan Family — Dafla

15. ¦%þœ ë%@Â!Ýþöì„þ !‰þ!£«“þ „þîû  —

(A) £zöì̈ yéôé£zvþzöìîûyþ™#ëû ö†yÛþ# — ›yîûy!àþ

(B) oy!îvþü ö†yÛþ# — „%þîû&„þ

(C) x!ßþTÉ„þ ö†yÛþ# — !›Ÿ!›

(D) !¢öì̃ y !“þî¹“þ#ëû ö†yÛþ# — vþyšþœy

————————
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Paper Code : VII - B

(Marks : 35)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Section - I

Answer any two questions. 10×2=20

1. Bring out the salient features of physiography of the Himalaya. 10

2. Explain the factors affecting soil erosion and mention various soil conservation measures.
5+5

3. Critically assess the population policies of India. 10

4. Account for the factors of growth and distribution of Petrochemical Industry in Western India.
6+4

Section - II

Answer any three questions. 5×3=15

5. Write on the physiographic characteristics of the Deltaic plain of Bengal. 5

6. Write down the salient features of the peninsular drainage system. 5

7. Write a short note on tropical dry deciduous forest of India. 5

8. Explain the patterns of migration  of Indian population. 5

9. Discuss areas of petrolium production in India. 5

10. Discuss social organization and culture of Santhal tribe. 2½+2½

îDy˜%îy”

!î¦þy† éôé „þ

öë ö„þy˜ ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 10×2=20

1. !£›yœöìëûîû ¦))þéôé²Ì„,þ!“þîû !îöìŸ¡ì ÷î!ŸÜTÄ=!œ “%þöìœ •îûÐ 10

2. ¦þyîû“þîöì¡ìÅîû ¢¨öì¦Åþ ›,!_„þyÇþöìëûîû „þyîû’ ~î‚ !î!¦þ§¬ ›,!_„þy ¢‚îûÇþöì’îû þ™kþ!“þ ¢Á™öì„Åþ îÄy…y ”yçÐ
5+5

3. ¦þyîûöì“þîû ‹˜¢‚…Äy ˜#!“þ=!œ ¢Á™öì„Åþ ¢›yöìœy‰þ˜y›)œ„þ ¢›#Çþy „þîûÐ 10

4. öþ™öìÝþÆy„þÄy!›„þÄyœ !ŸöìÒîû vþz§¬!“þîû „þyîû’ ~î‚ þ™!Øþ› ¦þyîûöì“þ “þyîû î^ùÝþ˜ ¢Á™öì„Åþ !îîîû’ ”yçÐ 6+4
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!î¦þy† éôé …

öë ö„þy˜ !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 5×3=15

5. îy‚œyîû îéôém#þ™#ëû ¢›¦)þ!›îû ¦)þéôé²Ìy„,þ!“þ„þ ÷î!ŸÜTÄ ¢Á™öì„Åþ öœ…Ð 5

6. ¦þyîûöì“þîû vþzþ™m#þ™#ëû xMþéöìœîû ˜”#=!œîû !îöìŸ¡ì ÷î!ŸÜTÄ ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ 5

7. ¦þyîû“þîöì¡ìÅîû e«yhsþ#ëû ÖÜñ þ™’Åöì›y‰þ# xîû’Ä ¢Á™öì„Åþ ¢‚!Çþ® Ýþ#„þy öœ…Ð 5

8. ¦þyîû“þ#ëû ‹˜†öì’îû þ™!îûëyöì̃ îû •îû’ ¢Á™öì„Åþ îÄy…Äy ”yçÐ 5

9. ¦þyîû“þîöì¡ìÅ öþ™öìÝþÆy!œëûy› vþzêþ™y”öì̃ îû xMþéœ=!œ ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ 5

10. ¢y¤ç“þyœ vþzþ™‹y!“þîû ¢y›y!‹„þ ¢‚†àþ˜ ç ¢‚ßþ,ñ!“þ ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ 2.5+2.5

____________


